

CALCULUS 1 (BE5B01MA1)  
BASIC RULES: DERIVATION & INTEGRATION

DERIVATION

(1)  $(u + kv)' = u' + kv'$ ,  $k$  constant

(4)  $(x^p)' = px^{p-1}$

(2)  $(u \cdot v)' = u'v + uv'$

(5)  $[f(g(x))]' = f'(g(x))g'(x)$

(3)  $\left(\frac{u}{v}\right)' = \frac{u'v - uv'}{v^2}$

(6)  $\frac{df}{dx} = \frac{df}{du} \cdot \frac{du}{dx}$

DERIVATIVES OF SOME BASIC FUNCTIONS

(1)  $(\ln(x))' = \frac{1}{x}$

(5)  $(\tan(x))' = \sec^2(x)$

(2)  $(e^x)' = e^x$

(6)  $(\sec(x))' = \sec(x) \tan(x)$

(3)  $(\sin(x))' = \cos(x)$ .

(7)  $(\cot(x))' = -\csc^2(x)$

(4)  $(\cos(x))' = -\sin(x)$ .

(8)  $(\csc(x))' = -\csc(x) \cot(x)$ .

INTEGRATION

(1)  $\int cf(x)dx = c \int f(x)dx$

(8)  $\int \sec^2(x)dx = \tan(x) + C$

(2)  $\int kdx = kx + C$

(9)  $\int \csc^2(x)dx = -\cot(x) + C$

(3)  $\int x^n dx = \frac{x^{n+1}}{n+1} + C$  ( $n \neq -1$ )

(10)  $\int \sec(x) \tan(x)dx = \sec(x) + C$

(4)  $\int \sin(x)dx = -\cos(x) + C$

(11)  $\int \csc(x) \cot(x)dx = -\csc(x) + C$

(5)  $\int \cos(x)dx = \sin(x) + C$

(12)  $\int e^x dx = e^x + C$

(6)  $\int a^x dx = \frac{a^x}{\ln(a)} + C$  and  $a \neq 1$

(13)  $\int \frac{1}{x} dx = \ln(|x|) + C$

(7)  $\int \frac{1}{x^2 + a^2} dx = \frac{1}{a} \tan^{-1}\left(\frac{x}{a}\right) + C$

(14)  $\int \sec(x)dx = \ln(|\tan(x) + \sec(x)|) + C$

## TRIGONOMETRIC IDENTITIES

(1)  $\sin^2(x) + \cos^2(x) = 1$

(2)  $\sin^2(x) = \frac{1}{2}(1 - \cos(2x))$

(3)  $\cos^2(x) = \frac{1}{2}(1 + \cos(2x))$

(4)  $\sin(x) \cos(x) = \frac{1}{2} \sin(2x)$

(5)  $\sec^2(x) = 1 + \tan^2(x)$

(6)  $1 + \cot^2(x) = \csc^2(x)$

(7)  $\sin(x+y) = \sin(x) \cos(y) + \cos(x) \sin(y)$

(8)  $\sin(x-y) = \sin(x) \cos(y) - \cos(x) \sin(y)$

(9)  $\cos(x+y) = \cos(x) \cos(y) - \sin(x) \sin(y)$

(10)  $\cos(x-y) = \cos(x) \cos(y) + \sin(x) \sin(y)$

(11)  $\tan(x+y) = \frac{\tan(x) + \tan(y)}{1 - \tan(x) \tan(y)}$

(12)  $\tan(x-y) = \frac{\tan(x) - \tan(y)}{1 + \tan(x) \tan(y)}$

## EVEN/ODD FORMULAS

(1)  $\sin(-x) = -\sin(x)$

(2)  $\cos(-x) = \cos(x)$

(3)  $\tan(-x) = -\tan(x)$

(4)  $\csc(-x) = -\csc(x)$

(5)  $\sec(-x) = \sec(x)$

(6)  $\cot(-x) = -\cot(x)$

## TABLE OF TRIGONOMETRIC SUBSTITUTIONS

Expression	Substitution	Identity
$\sqrt{a^2 - x^2}$	$x = a \sin \theta, \quad -\frac{\pi}{2} \leq \theta \leq \frac{\pi}{2}$	$1 - \sin^2 \theta = \cos^2 \theta$
$\sqrt{a^2 + x^2}$	$x = a \tan \theta, \quad -\frac{\pi}{2} < \theta < \frac{\pi}{2}$	$1 + \tan^2 \theta = \sec^2 \theta$
$\sqrt{x^2 - a^2}$	$x = a \sec \theta, \quad 0 \leq \theta < \frac{\pi}{2} \text{ or } \pi \leq \theta < \frac{3\pi}{2}$	$\sec^2 \theta - 1 = \tan^2 \theta$

## SOME MACLAURIN SERIES

$$\star \frac{1}{1-x} = \sum_{n=0}^{\infty} x^n = 1 + x + x^2 + x^3 + \dots \text{ with } R = 1.$$

$$\star e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!} = 1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots \text{ with } R = \infty.$$

$$\star \sin(x) = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{(2n+1)!} = x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots \text{ with } R = \infty.$$

$$\star \cos(x) = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n}}{(2n)!} = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \frac{x^6}{6!} + \dots \text{ with } R = \infty.$$

$$\star \tan^{-1}(x) = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1} = x - \frac{x^3}{3} + \frac{x^5}{5} - \frac{x^7}{7} + \dots \text{ with } R = 1.$$

$$\star \ln(1+x) = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{x^n}{n} = x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots \text{ with } R = 1.$$

$$\star (1+x)^k = 1 + kx + \frac{k(k-1)}{2!}x^2 + \frac{k(k-1)(k-2)}{3!}x^3 + \dots \text{ with } R = 1.$$